
Rev.E INST-579

required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications 

Product Mounting Disclaimer 
Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, special, incidental or consequential damages for personal injury or other damage 
of any nature arising directly or indirectly as a result of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson 
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is 

and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.
required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications 

Product Mounting Disclaimer 
Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, special, incidental or consequential damages for personal injury or other damage 
of any nature arising directly or indirectly as a result of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson 
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is 

and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.

7160-0284

  PS-001

If you need assistance or have questions, call Gamber-Johnson at 1-800-456-6868

Product Revision

Printing Spec:

7160-0284, 7160-0285, 7160-0926, 7160-0782

Form 

6-Inch Slide Arm w/Short Clevis, TS5 Quad-Motion w/o Clevis

INSTALLATION INSTRUCTIONS

TS3 & TS5 Quad-Motion w/New Clevis

The Quad-Motion series of products is designed to provide the user with slide, swivel and tilt control of their
mounted device. The motion attachment allows for 60  rotation of the arm and 60  rotation of the clevis. The
TS3 motion attachment allows for 3.5 in. of horizontal travel. The TS5 motion attachment allows for 5.0 in. of 
horizontal travel.

7160-0926

7160-0782

© Copyright 2018 Gamber-Johnson, LLC

Product List

Quad-Motion TS3 w/ Clevis: 7160-0284
Quad-Motion TS5 w/ Clevis: 7160-0285
6-Inch Slide Arm w/Short Clevis: 7160-0926
Quad-Motion TS5 w/o Clevis: 7160-0782

Tools Needed

• 7/16 Wrench or Socket 
 
Assembly

Remove the (3) 1/4 in. nylon jam nuts from the bottom of the device.1.
Stack the plastic washers and metal washer as shown in Figure 1.2.
Secure the Quad-Motion device using the (3) 1/4 in. nylon jam nuts removed in step 1.3.
Tighten the (3) 1/4 in. nylon jam nuts to allow the desired rotational resistance of the arm.4.
Adjust the torque on the (4) 1/4 in. nylon jam nuts (Figure)2) on the slide to provide the desired sliding5.
resistance.

7160-0285

FIGURE 2

(4) 1/4 IN. 

NYLON JAM NUT

FIGURE 1

PLASTIC WASHER

3/8 IN NYLON NUT
HEAVY BEARING BACKUP PLATE

ANCHOR PLATE

1/4 IN NYLON JAM NUT

METAL WASHER

ANCHOR WASHER

POLE

PLASTIC WASHER


